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Tumon Year 4 Worksheet 2: Addition and Subtraction

Level: Beginner

THE POWER OF
KNOWING

.341 +526 =7
.802-235=7

. Add: 145 + 210 + 325

. Subtract: 600 - 312

. Estimate: 745 + 298 ' ?
. Solve: 430 + 80 = ?

. What is 900 - 1577
Add: 389 + 174 ="

. Subtract: 1,000 - 625 =?

10. Estimate: 398 + 452 = closer to 800 or 9007?

[Use the space below to work out your answers. Show all your working.]



Tumon Year 4 Worksheet 2: Addition and Subtraction

Level: Intermediate

KNOWING

1.1,425+3,174="7

2.6,208 - 4,629 = ?

3. Estimate and solve: 4,312 + 1,987

4. Write a word problem for: 1,260 - 875

5. Fill in the blank: 3,840 + __ = 5,000

6. Check: 4,782 - 2,395 using addition.

7. Solve using column method: 2,841 + 947

8. What is the difference between 3,920 and 3,2007?

9. A train has 845 passengers. 429 get off. How many left?

10. Use rounding to estimate: 4,981 + 3,202

[Use the space below to work out your answers. Show all your working.]



Tumon Year 4 Worksheet 2: Addition and Subtraction

Level: Difficult

KNOWING

1. Solve: 8,124 - 5,639

2. A shop had 5,000 pens. 3,438 were sold. How many remain?
3. A school raised '1,296 and '3,428. What's the total?

4. Estimate: 6,301 + 2,728

5.9,045-2,319="7

6. Use inverse to check: 3,401 + 2,847 = 6,248

7. Add: 3,829 + 2,673 + 1,498

8. Solve: 10,000 - 6,724

9. What's the missing number: __ + 4,325 = 8,000

10. Create a 2-step problem using subtraction and addition.

[Use the space below to work out your answers. Show all your working.]



Tumon Year 4 Worksheet 2: Addition and Subtraction
Level: Super Challenging

KNOWING

1. A stadium holds 9,870 people. 7,654 attended. How many seats were empty?

2. Estimate: 3,298 + 4,881 + 2,790

3. Solve: 6,821 + 1,902 - 875

4. A shop earned '2,345 on Monday and '3,901 on Tuesday. How much more on Tuesday?
5. Use rounding to check: 5,689 - 2,332 = ?

6. Fillin: ___ -2,518=23,624

7. Explain how to check 4,210 + 3,906 = 8,116

8. Find 3 pairs of numbers with a total of 5,000.

9.8,943-2,771="7

10. Write a two-step word problem that includes subtraction.

[Use the space below to work out your answers. Show all your working.]



